a(0 @) (raqd)

10721

SICEWATL

=
<

owp./p,)

-1

0 1 2

M_V0001_R000000001 _Global

3

TP n (PCA to beamline)

a(d cot(d))

H
S
o

; il

o
©
1 C

w

-2 -1 0 1 2 3
TP n (PCA to beamline)

obal_mKFT Staple
M_V0001_R000000001__Global_mkFit_CAND1kstable
M_V0001_R000000001__Global__mkFit_lkswitch

mkFit_CAND1kswitch

=

|«
[¢V RAAAN RARAN RRAR

-1

0 1 2

TP n (PCA to beamline)

|
W[

-2

-1

0 1 2

3

TP n (PCA- to beamline)

oloa,) (cm)

1

=3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


